|  |  | ¢ |
| :---: | :---: | :---: |
| Malaya Journal of Matematik |  <br> an international journal of mathematical sciences with computer applications... |  |

# Qualitative behavior of rational difference equations of higher order 

E. M. Elabbasy ${ }^{a}$ A.A. Elsadany ${ }^{b, *}$ and Samia Ibrahim $^{b}$<br>${ }^{a}$ Department of Mathematics, Faculty of Science, Mansoura University, Mansoura 35516, Egypt.<br>${ }^{b}$ Department of Basic Science, Faculty of Computers and Informatics, Suez Canal University, Ismailia 41522, Egypt.


#### Abstract

In this paper we study the behavior of the solution of the following rational difference equation $$
x_{n+1}=\frac{a x_{n-r}^{2}+b x_{n-l} x_{n-k}^{2}}{c x_{n-r}^{2}+d x_{n-l} x_{n-k}^{2}} \quad n=0,1, \ldots,
$$ where the parameters $a, b, c$ and $d$ are positive real numbers and the initial conditions $x_{-t}, x_{-t+1}, \ldots, x_{-1}$ and $x_{0}$ are posistive real numbers where $t=\max \{r, k, l\}$.

Keywords: stability, rational difference equation, global attractor, periodic solution. 2015 MSC: 39A10. (C)2015 MJM. All rights reserved.


## 1 Introduction

In the past two decades, the study of Difference Equations has been growing continuously. This is largely due to the fact that difference equations appear as mathematical models describing real life situations in probability theory, queuing theory, statistical problems, stochastic time series, combinatorial analysis, number theory, geometry, electrical network, quanta in radiation, genetics in biology, economics, psychology, sociology, etc. Moreover, difference equations also appear in the study of discretization schemes for nonlinear differential equations. The need for a discretization of nonlinear differential equations arises from the fundamental realization that nonlinear systems generally do not have analytic solutions expressible in terms of a finite representation of elementary functions. In fact, now it occupies a central position in applicable analysis and will no doubt continue to play an important role in mathematics as a whole. Our objective in this paper is to investigate the global stability character, boundedness and the periodicity of solutions of the rational difference equation

$$
\begin{equation*}
x_{n+1}=\frac{a x_{n-r}^{2}+b x_{n-l} x_{n-k}^{2}}{c x_{n-r}^{2}+d x_{n-l} x_{n-k}^{2}} \quad n=0,1, \ldots \tag{1.1}
\end{equation*}
$$

where the parameters $a, b, c$ and $d$ are positive real numbers and the initial conditions $x_{-t}, x_{-t+1}, \ldots, x_{-1}$ and $x_{0}$ are positive real numbers where $t=\max \{r, k, l\}$.

Recently there has a lot of interest in studying the global attractivity, the boundedness character and the periodicity nature of nonlinear difference equations for example ([1], [2], [3], [4], [5], [6], [7], [8], [9]).

Many researchers studied qualitative behaviors of the solution of difference equations for example; in [5] Elabbasy et al studied the global stability character, boundedeness and the periodicity of solutions of the difference equation

$$
x_{n+1}=\frac{\alpha x_{n}+\beta x_{n-1}+\gamma x_{n-2}}{A x_{n}+B x_{n-1}+C x_{n-2}} .
$$

* Corresponding author.

E-mail address: aelsadany1@yahoo.com (A.A. Elsadany)

Elabbasy et al. [4] analyzed the global stability, periodicity character and gave the solution of special cases of the difference equation

$$
x_{n+1}=\frac{d x_{n-l} x_{n-k}}{c x_{n-s}-b}+a .
$$

Wang et al. [24] studied the global attractivity of equilibrium points and the asymptotic behavior of the solutions of the solutions of the difference equation

$$
x_{n+1}=\frac{a x_{n-l} x_{n-k}}{\alpha+b x_{n-s}+c x_{n-t}} .
$$

Saleh and Baha [17] investigated the behavior of nonlinear rational difference equation

$$
x_{n+1}=\frac{\beta x_{n}+\gamma x_{n-k}}{B x_{n}+C x_{n-k}} .
$$

Yan, Li and Zhao [26] studied boundedeness, periodic character, invariant intervals and the global asymptotic stability of the all nonnegative solutions of the difference equation

$$
x_{n+1}=\frac{a x_{n}+b x_{n-k}}{A+B x_{n}} .
$$

See also $([10],[11,[12],[13],[14],[15],[16],[17],[18])$. Other related results can be found in ([19],[20],[21],[22], [23], [24], [25], [27, [28,, [29], [30], [31], [32]). Let us introduce some basic definitions and some theorems that we need sequel.

Let $I$ be some interval of real numbers and let

$$
f: I^{k+1} \rightarrow I
$$

be a continuously differentiable function. Then for every set of initial conditions $x_{-k}, x_{-k+1}, \ldots, x_{0} \in I$, the difference equation

$$
\begin{equation*}
x_{n+1}=F\left(x_{n}, x_{n-1}, \ldots, x_{n-k}\right), \quad n=0,1, \ldots, \tag{1.2}
\end{equation*}
$$

Definition 1.1. ([13], [16]) (Equilibrium Point) A point $\bar{x} \in I$ is called an equilibrium point of Eq.(1.2) if

$$
\bar{x}=F(\bar{x}, \bar{x}, \ldots, \bar{x}) .
$$

Definition 1.2. ([13], [16]) The difference equation (1.2) is said to be persistence if there exist numbers $m$ and $M$ with $0<m \leq M<\infty$ such that for any initial conditions $x_{-k}, x_{-k+1}, \ldots, x_{-1}, x_{0} \in(0, \infty)$ there exists a positive integer $N$ which depends on the initial conditions such that

$$
m \leq x_{0} \leq M \quad \text { for all } n \geq N
$$

Definition 1.3. ([13], [16]) Stability
(a) The equilibrium point $\bar{x}$ of Eq.(1.2) is called stable (or locally stable) if for every $\epsilon>0$ there exists $\delta>0$ such that $\left\|x_{0}-\bar{x}\right\|<\delta$ implies $\left\|x_{n}-\bar{x}\right\|<\epsilon$ for $n \geq 0$. Otherwise the equilibrium $\bar{x}$ is called unstable.
(b) The equilibrium point $\bar{x}$ of Eq.(1.2) is called asymptotically stable (or locally asymptotically stable) if it stable and there exists $\gamma>0$ such that $\left\|x_{0}-\bar{x}\right\|<\gamma$ implies

$$
\lim _{n \rightarrow \infty}\left\|x_{n}-\bar{x}\right\|=0
$$

(c) The equilibrium point $\bar{x}$ of Eq. 1.2 is called globally asymptotically stable if it is asymptotically stable, and if every $x_{0}$,

$$
\lim _{n \rightarrow \infty}\left\|x_{n}-\bar{x}\right\|=0
$$

(d) The equilibrium point $\bar{x}$ of Eq. (1.2) is called globally asymptotically stable relative to a set $s \subset \mathbb{R}^{k+1}$ if it is asymptotically stable, and if for every $x_{0} \in s$,

$$
\lim _{n \rightarrow \infty}\left\|x_{n}-\bar{x}\right\|=0
$$

(e) The equilibrium point $\bar{x}$ of Eq. (1.2) is said to be a global attractor with basin of attraction a set $s \subset \mathbb{R}^{k+1}$ if

$$
\lim _{n \rightarrow \infty} x_{n}=\bar{x}
$$

for every solution with $x_{0} \in s$.
Theorem 1.1. ([13], [16] )Assume $p, q \in \mathbb{R}$. Then a necessary and sufficient for the asymptotic stability of the difference equation

$$
\begin{equation*}
x_{n+2}+p x_{n+1}+q x_{n}=0, \quad n=0,1, \ldots . \tag{1.3}
\end{equation*}
$$

is that

$$
|p|<1+q<2
$$

Theorem 1.2. (13], 16])Assume that $p, q \in \mathbb{R}$ and $k \in\{0,1, \ldots$.$\} . Then$

$$
|p|+|q|<1
$$

is a sufficient condition for the asymptotic stability of the difference equation

$$
\begin{equation*}
x_{n+1}+p x_{n}+q x_{n-k}=0, \quad n=0,1, \ldots \ldots \tag{1.4}
\end{equation*}
$$

Theorem 1.3. $([13], \boxed{16]})$ Assume $p_{1}, \ldots . . ., p_{k} \in \mathbb{R}$ and $k \in\{1,2, \ldots .$.$\} . Then the difference equation$

$$
x_{n+k}+p_{1} x_{n+k-1}+\ldots \ldots+p_{k} x_{n}=0
$$

is asymptotically stable provided that

$$
\sum_{i=1}^{k}\left|p_{i}\right|<1
$$

Remark 1.1. ([12], [13])The Linear equation

$$
\begin{equation*}
x_{n+1}-x_{n}+\sum_{i=1}^{m} p_{i} x_{n-k_{i}}=0, \quad n=0,1,2, \ldots \tag{1.5}
\end{equation*}
$$

where $p_{1}, \ldots . ., p_{m} \in(0, \infty)$ and $k_{1}, \ldots . . k_{m}$ are positive integers, is asymptotically stable provided that

$$
\sum_{i=1}^{m} k_{i} p_{i}<1
$$

([12], [13])Periodicity (a) A sequence $\left\{x_{n}\right\}_{n=-k}^{\infty}$ is said to be periodic with period $p$ if

$$
\begin{equation*}
x_{n+p}=x_{n} \quad \text { for } n \geq-k \tag{1.6}
\end{equation*}
$$

The theory of Full Limiting Sequences was indicated in [15]. The following theorem was given in [5].
Theorem 1.4. ([12], [13]) Let $F \in\left[I^{k+1}, I\right]$ for some interval I of real numbers and for some non-negative integer $k$, and consider the difference equation

$$
\begin{equation*}
x_{n+1}=F\left(x_{n}, x_{n-1} \ldots, x_{n-k}\right) \tag{1.7}
\end{equation*}
$$

Let $l_{0}$ be a limit point of the sequence $\left\{x_{n}\right\}_{n=-k}^{\infty}$. Then the following statements are true.
(i) There exists a solution $\left\{L_{n}\right\}_{n=-\infty}^{\infty}$ of Eq.(1.7), called a full limiting sequence of $\left\{x_{n}\right\}_{n=-k}^{\infty}$, such that $L_{0}=l_{0}$, and such that for every $N \in\{\ldots,-1,0,1, \ldots\} L_{N}$ is a limit point of $\left\{x_{n}\right\}_{n=-k}^{\infty}$.
(ii) For every $i_{0} \leq-k$, there exists a subsequence $\left\{x_{i}\right\}_{i=-0}^{\infty}$ of $\left\{x_{n}\right\}_{n=-k}^{\infty}$ such that

$$
L_{N}=\lim _{i \rightarrow \infty} x_{r_{i}+N} \text { for all } N \geq i_{0}
$$

## 2 Local Stability of the Equilibrium Point

In this section we investigate the local stability character of the solutions of Eq.(1.1). Eq.(1.1) has an equilibrium points are given by

$$
\begin{aligned}
\bar{x} & =f(\bar{x}, \bar{x}) \\
& =\frac{a \bar{x}^{2}+b \bar{x}^{3}}{c \bar{x}^{2}+d \bar{x}^{3}} \\
& =\frac{a+b \bar{x}}{c+d \bar{x}}
\end{aligned}
$$

Then Eq.(1.1) has an equilibrium points $\bar{x}=\frac{b-c \pm \sqrt{(b-c)^{2}+4 a d}}{2 d}$.
Let $f:(0, \infty)^{2} \rightarrow(0, \infty)$ be a function defined by

$$
\begin{equation*}
f(u, v, w)=\frac{a u^{2}+b v w^{2}}{c u^{2}+d v w^{2}} . \tag{2.8}
\end{equation*}
$$

Therefore it follows that

$$
\begin{aligned}
& f_{u}(u, v, w)=\frac{2 u v w^{2}(a d-b c)}{\left(c u^{2}+d v w^{2}\right)^{2}} \\
& f_{v}(u, v, w)=-\frac{u^{2} w^{2}(a d-b c)}{\left(c u^{2}+d v w^{2}\right)^{2}} \\
& f_{w}(u, v, w)=-\frac{2 u^{2} v w(a d-b c)}{\left(c u^{2}+d v w^{2}\right)^{2}}
\end{aligned}
$$

we see that

$$
\begin{aligned}
& f_{u}(\bar{x}, \bar{x}, \bar{x})=\frac{2(a d-b c)}{(c+d \bar{x})^{2}}=-c_{0} \\
& f_{v}(\bar{x}, \bar{x}, \bar{x})=-\frac{(a d-b c)}{(c+d \bar{x})^{2}}=-c_{1} \\
& f_{w}(\bar{x}, \bar{x}, \bar{x})=-\frac{2(a d-b c)}{(c+d \bar{x})^{2}}=-c_{2} .
\end{aligned}
$$

At $\bar{x}=\frac{b-c+\sqrt{(b-c)^{2}+4 a d}}{2 d}$, one has $(c+d \bar{x})^{2}=\frac{1}{4}\left(b+c+\sqrt{(b-c)^{2}+4 a d}\right)$.
Thus

$$
\begin{aligned}
f_{u}(\bar{x}, \bar{x}, \bar{x}) & =\frac{8(a d-b c)}{\left(b+c+\sqrt{(b-c)^{2}+4 a d}\right)}
\end{aligned}=-c_{0}, ~=\frac{4(a d-b c)}{\left(b+c+\sqrt{(b-c)^{2}+4 a d}\right)}=-c_{1}, ~(\bar{x}, \bar{x}, \bar{x})=-\frac{8(a d-b c)}{f_{v}}=-c_{2} .
$$

Then the linearized equation of Eq.(1.1) about is $\bar{x}$ is

$$
\begin{equation*}
y_{n+1}+c_{0} y_{n-r}+c_{1} y_{n-l}+c_{2} y_{n-k}=0 \tag{2.9}
\end{equation*}
$$

Theorem 2.5. Assume that

$$
20|(a d-b c)|<b+c+\sqrt{(b-c)^{2}+4 a d} .
$$

Then the positive equilibrium point $\bar{x}=\frac{b-c+\sqrt{(b-c)^{2}+4 a d}}{2 d}$ of Eq.(1.1) is locally asymptotically stable.

Proof. It follows by Theorem 1.3 that, Eq. (1.1) is asymptotically stable if

$$
\begin{gathered}
\left|c_{0}\right|+\left|c_{1}\right|+\left|c_{2}\right|<1 \\
\left|\frac{8(a d-b c)}{\left(b+c+\sqrt{(b-c)^{2}+4 a d}\right)}\right|+\left|\frac{4(a d-b c)}{\left(b+c+\sqrt{(b-c)^{2}+4 a d}\right)}\right|+\left|\frac{8(a d-b c)}{\left(b+c+\sqrt{(b-c)^{2}+4 a d}\right)}\right|<1
\end{gathered}
$$

or

$$
20|(a d-b c)|<b+c+\sqrt{(b-c)^{2}+4 a d}
$$

The proof is complete.

## 3 Existence of Periodic Solutions

In this section we study the existence of prime period two solutions of Eq. (1.1).
Theorem 3.6. (i) Let $r, l, k$ odd, then Eq.(1.1) has a prime period two solution for all $a, b, c, d \in \mathbb{R}^{+}$.
(ii) Let $r$, $k$ even, l odd, then Eq.(1.1) has a prime period two solution for all $a, b, c, d \in \mathbb{R}^{+}$.

Proof. We will prove the theorem when Case $(i)$ is true. The proof of Case (ii) is similar.
First suppose that there exists a prime period two solution

$$
\ldots, p, q, p, q, \ldots,
$$

of Eq. (1.1).
We see from Eq.(1.1) that

$$
p=\frac{a p^{2}+b p^{3}}{c p^{2}+d p^{3}}=\frac{a+b p}{c+d p}
$$

and

$$
q=\frac{a q^{2}+b q^{3}}{c q^{2}+d q^{3}}=\frac{a+b q}{c+d q}
$$

Then

$$
\begin{equation*}
c p+d p^{2}=a+b p \tag{3.10}
\end{equation*}
$$

and

$$
\begin{equation*}
c q+d q^{2}=a+b q \tag{3.11}
\end{equation*}
$$

Subtracting 3.10 from 3.11 gives

$$
c(p-q)+d\left(p^{2}-q^{2}\right)=b(p-q)
$$

Since $p \neq q$, it follows that

$$
\begin{equation*}
p+q=\frac{b-c}{d} \tag{3.12}
\end{equation*}
$$

Also, since $p$ and $q$ are positive, $(b-c)$ should be positive.
Again, adding 3.10 and 3.11) yields

$$
\begin{equation*}
c(p+q)+d\left(p^{2}+q^{2}\right)=2 a+b(p+q) \tag{3.13}
\end{equation*}
$$

It follows by (3.12,, 3.13 ) and the relation

$$
p^{2}+q^{2}=(p+q)^{2}-2 p q \quad \text { for all } p, q \in \mathbb{R}
$$

that

$$
\begin{equation*}
p q=-\frac{a}{d} \tag{3.14}
\end{equation*}
$$

It is clear that $p$ and $q$ are two real distinct roots of quadratic equation given by:

$$
d t^{2}-(b-c) t-a=0
$$

for all $a, b, c, d \in \mathbb{R}^{+}$.

Second suppose that $a, b, c, d \in \mathbb{R}^{+}$. We will show that Eq.(1.1) has prime period two solutions. Assume that

$$
p=\frac{(b-c)+\sqrt{(b-c)^{2}+4 a d}}{2 d}
$$

and

$$
q=\frac{(b-c)-\sqrt{(b-c)^{2}+4 a d}}{2 d}
$$

Therefore $p$ and $q$ are distinct real numbers.
Set

$$
x_{-t}=p, x_{-t+1}=q, \cdots, x_{-1}=p, x_{0}=q .
$$

We wish to show that

$$
x_{1}=x_{-1}=p \text { and } x_{2}=x_{0}=q .
$$

It follows from Eq.(1.1) that

$$
x_{1}=\frac{a+b p}{c+d p}=p
$$

Similarly we see that

$$
x_{2}=q .
$$

Then Eq.(1.1) has the prime period two solution

$$
\ldots, p, q, p, q, \ldots,
$$

where $p$ and $q$ are distinct roots of a quadratic equation and the proof is complete.

## 4 Global Attractor of the Equilibrium Point of Eq.(1.1)

In this section we investigate the global attractivity character of solutions of Eq. 1.1).
Lemma 4.1. For any values of the quotient $\frac{a}{c}$ and $\frac{b}{d}$, the function $f(u, v, w)$ defined by Eq. (2.8) is monotone in each of its three arguments.

Theorem 4.7. The equilibrium point $\bar{x}$ of Eq.(1.1) is global attractor if one of the following statments hold:
(i) $a d \geq b c$ and $4 c\left(\frac{b}{d}\right)^{4}-4 a\left(\frac{b}{d}\right)^{3}>-(b+c)\left(\frac{a}{c}\right)^{4}$.
(ii) $a d \leq b c$ and $5 d\left(\frac{a}{c}\right)^{4}-4 b\left(\frac{a}{c}\right)^{3}>-a\left(\frac{b}{d}\right)^{2}$.

Proof. Let $\left\{x_{n}\right\}_{n=-t}^{\infty}$ be solution of Eq.(1.1) and again let $f$ be function defined by Eq.(2.8).
We will prove the theorem when Case $(i)$ is true. The proof of Case $(i i)$ is similar. In case of $(i)$, when $a d \geq b c$, the function $f(u, v, w)$ is non-decreasing in $u$ and non-increasing in $v, w$. Thus from Eq.(1.1), we see that

$$
x_{n+1}=\frac{a x_{n-r}^{2}+b x_{n-l} x_{n-k}^{2}}{c x_{n-r}^{2}+d x_{n-l} x_{n-k}^{2}} \leq x_{n+1}=\frac{a x_{n-r}^{2}+b(0)}{c x_{n-r}^{2}+d(0)}=\frac{a}{c} .
$$

Then

$$
\begin{gather*}
x_{n} \leq \frac{a}{c}=H \text { for all } n \geq 1 .  \tag{4.15}\\
x_{n+1}=\frac{a x_{n-r}^{2}+b x_{n-l} x_{n-k}^{2}}{c x_{n-r}^{2}+d x_{n-l} x_{n-k}^{2}} \geq x_{n+1}=\frac{a(0)+b x_{n-l} x_{n-k}^{2}}{c(0)+d x_{n-l} x_{n-k}^{2}} \\
\geq \frac{b}{d}=h \text { for all } n \geq 1 . \tag{4.16}
\end{gather*}
$$

Then from Eq. (4.15) and Eq.(4.16), we see that

$$
0<h=\frac{b}{d} \leq x_{n} \leq \frac{a}{c}=H \text { for all } n \geq 1 .
$$

let $\left\{x_{n}\right\}_{n=0}^{\infty}$ be solution of Eq. (1.1) with

$$
I=\liminf _{n \rightarrow \infty} x_{n} \text { and } S=\underset{n \rightarrow \infty}{\limsup } .
$$

We want to show that $I=S$.
Now it follows from Eq. 1.1 that

$$
I \geq f(I, S, S)
$$

or

$$
I \geq \frac{a I^{2}+b S^{3}}{c I^{2}+d S^{3}}
$$

and so

$$
\begin{equation*}
a I^{2}+b S^{3}-c I^{3} \leq d I S^{3} \tag{4.17}
\end{equation*}
$$

Similarly, we see from Eq.(1.1) that

$$
S \leq f(S, I, I)
$$

or

$$
S \leq \frac{a S^{2}+b I^{3}}{c S^{2}+d I^{3}}
$$

and so

$$
\begin{equation*}
a S^{2}+b I^{3}-c S^{3} \geq d S I^{3} \tag{4.18}
\end{equation*}
$$

Therefore it follows from Eq. (4.17) and Eq. (4.18) that

$$
\begin{gathered}
a I^{4}+b I^{2} S^{3}-c I^{5} \leq d I^{3} S^{3} \leq a S^{4}+b I^{3} S^{2}-c S^{5} \\
c\left(I^{5}-S^{5}\right)+b I^{2} S^{2}(I-S)-a\left(I^{4}-S^{4}\right) \geq 0
\end{gathered}
$$

if and only if

$$
(I-S)\left[c\left(I^{4}+I^{3} S+I^{2} S^{2}+I S^{3}+S^{4}\right)+b I^{2} S^{2}-a(I+S)\left(I^{2}+S^{2}\right)\right] \geq 0
$$

and so $I \geq S$ if

$$
\begin{equation*}
c\left(I^{4}+I^{3} S+I^{2} S^{2}+I S^{3}+S^{4}\right)+b I^{2} S^{2}-a(I+S)\left(I^{2}+S^{2}\right) \geq 0 \tag{4.19}
\end{equation*}
$$

Inequality 4.19) can be written as:

$$
c\left(I^{4}+I^{3} S+I S^{3}+S^{4}\right)+(b+c) I^{2} S^{2}-a(I+S)\left(I^{2}+S^{2}\right) \geq 0
$$

To prove Inequality 4.19 , let us consider

$$
\tau=c\left(I^{4}+I^{3} S+I S^{3}+S^{4}\right)-a(I+S)\left(I^{2}+S^{2}\right)
$$

Then, one has

$$
\begin{aligned}
\tau & \geq 4 c\left(\frac{b}{d}\right)^{4}-4 a\left(\frac{b}{d}\right)^{3} \\
& \geq-(b+c)\left(\frac{a}{c}\right)^{4} \\
& \geq-(b+c) I^{2} S^{2}
\end{aligned}
$$

and so it follows that

$$
I \geq S
$$

Therefore

$$
I=S
$$

This complete the proof.

## 5 Boundedness of Solutions of Eq.(1.1)

In this section we study the boundedness of solutions of Eq. 1.1
Theorem 5.8. Every solution of Eq.(1.1) is bounded and persists.
Proof. Let $\left\{x_{n}\right\}_{n=-t}^{\infty}$ be a solution of Eq.(1.1). Then

$$
\begin{aligned}
x_{n+1}= & \frac{a x_{n-r}^{2}+b x_{n-l} x_{n-k}^{2}}{c x_{n-r}^{2}+d x_{n-l} x_{n-k}^{2}} \\
& \frac{a x_{n-r}^{2}}{c x_{n-r}^{2}+d x_{n-l} x_{n-k}^{2}}+\frac{b x_{n-l} x_{n-k}^{2}}{c x_{n-r}^{2}+d x_{n-l} x_{n-k}^{2}} \\
\leq & \frac{a x_{n-r}^{2}}{c x_{n-r}^{2}}+\frac{b x_{n-l} x_{n-k}^{2}}{d x_{n-l} x_{n-k}^{2}} \\
= & \frac{a}{c}+\frac{b}{d}
\end{aligned}
$$

Thus $x_{N} \leq \frac{a}{c}+\frac{b}{d}=M$ for all $N \geq 1$.
Let there exists $m>0$ such that $x_{N} \geq m$ for all $N \geq 1$. Taking $x_{N}=\frac{1}{y_{N}}$, then one has

$$
\begin{aligned}
y_{n+1}= & \frac{c y_{n-r}^{2}+d y_{n-l} y_{n-k}^{2}}{a y_{n-r}^{2}+b y_{n-l} y_{n-k}^{2}} \\
& \frac{c y_{n-r}^{2}}{a y_{n-r}^{2}+b y_{n-l} y_{n-k}^{2}}+\frac{d y_{n-l} y_{n-k}^{2}}{a y_{n-r}^{2}+b y_{n-l} y_{n-k}^{2}} \\
\leq & \frac{c y_{n-r}^{2}}{a y_{n-r}^{2}}+\frac{d y_{n-l} y_{n-k}^{2}}{b y_{n-l} y_{n-k}^{2}} \\
= & \frac{c}{a}+\frac{d}{b}
\end{aligned}
$$

Thus $x_{N}=\frac{1}{y_{N}} \geq \frac{1}{h}=\frac{a b}{a d+b c}=m$ for all $N \geq 1$. Hence, $m \leq x_{N} \leq M$ for all $N \geq 1$.

## References

[1] R. P. Agarwal and E. M. Elsayed, On the solution of fourth-order rational recursive sequence, Advanced Studies in Contemporary Mathematics, 20 (4) (2010), 525-545.
[2] E. M. Elabbasy, H. El-Metwally and E. M. Elsayed, On the difference equation $x_{n+1}=a x_{n}-\frac{b x_{n}}{c x_{n}-d x_{n-1}}$, Adv. Differ. Equ, Volume 2006 (2006), Article ID 82579,1-10.
[3] E. M. Elabbasy, H. El-Metwally and E. M. Elsayed, Global behavior of the solutions of difference equation, Adv. Differ. Equ, Volume (2011), 1-16.
[4] E. M. Elabbasy, H. El-Metwally and E. M. Elsayed, Qualitative behavior of higher order difference equation, Soochow Journal of mathematics, 33 (2007), 861-873.
[5] E. M. Elabbasy, H. El-Metwally and E. M. Elsayed, Global attractivity and periodic character of a fractional difference equation of order three, Yokohama Math. J, 53(2007), 89-100.
[6] E. M. Elabbasy and E. M. Elsayed, Global attractivity and periodic nature of a difference equation, World Appl. Sci. J, 12 (2011),39-47.
[7] E. M. Elsayed, On the solution of some difference equations, European Journal of Pure and Applied. Mathematics, 4 (2011), 287-303.
[8] E. M. Elsayed, Solution and attractivity for a rational recursive sequence, Discrete Dynamics in Nature and Society, Volume (2011), Article ID 982309, 17 pages.
[9] E. M. Elsayed, On the Global attractivity and the solution of recursive sequence, Studia Sci. Hungarica, 47 (2010), 401-418.
[10] E. M. Elsayed, Dynamics of recursive sequence of order two, Kyungpook Math. J., 50 (2010), 483-497.
[11] S. Elaydi, An Introduction to Difference Equations. New York: Springer-Verlag, 1999.
[12] M. R. S. Kulenovic and G. Ladas, Dynamics of Second Order Rational Difference Equations, London: Chapman h Hall/CRC, 2001.
[13] E. A. Grove and G. Ladas, Periodicities in Nonlinear Difference Equations, Chapman \& Hall/CRC, 2005.
[14] E. A. Grove, C. M. Kent, G. Ladas, R. Levins, and S. Valicenti, Global stability in some population models, in Proceedings of the 4th International Conference on Difference Equations and Applications, Poznan, Poland, August 1998.
[15] G. Karakostas, Convergence of a difference equation via the full limiting sequences method, Differential Equations and Dynamical System 1 (1993), 289-294.
[16] V. L. Kocic and G. Ladas, Global Behavior of Nonlinear Difference Equations of Higher Order with Applications. Dordreht/Boston/London: Kluwer Academic Publishers, 1993.
[17] M. Saleh, S. A. Baha, Dynamics of a higher order rational difference equation, Appl. Math. Comp, 181(2006), 84-102.
[18] A. Rafiq, Convergence of an iterative acheme due to Agarawal et al.,Rostock. Math. Kolloq. 61(2006), 95-105.
[19] M. Saleh, M. Aloqeili, On the difference equation $x_{n+1}=A+\frac{x_{n}}{x_{n-k}}$. Appl. Math. Comp. 171(2005), 862-869
[20] M. Saleh, M. Aloqeili, On the difference equation $x_{n+1}=A+\frac{y_{n}}{y_{n-k}}$ with $A<0$. Appl. Math. Comp. 176(2006), 359-363 .
[21] D. Simsek, C. Cinar, I. Yalcinkaya, On the recursive sequence $x_{n+1}=\frac{x_{n-3}}{1+x_{n-1}}$. Int. J. Contemp. Math. Sci. (10)(2006), 475-480 .
[22] C. Wang, S. Wang, T. Li, Q. Shi, Asymptotic behavior of equilibrium point for a class of nonlinear difference equation. Adv. Differ Equ. volume (2009), 8 pages.
[23] C. Wang, Q. Shi, S. Wang, Asymptotic behavior of equilibrium point for a family of rational difference equation. Adva. Differ. Equ. volume (2010), 10 pages.
[24] C. Wang, S. Wang, Z. Wang, H. Gong, R. Wang, Asymptotic stability for a class of nonlinear difference equation, Discrete Dynamics in Natural and Society (2010), 10 pages.
[25] X. Yang, W. Su, B. Chen, G. M. Megson and D. J. Evans, On the recursive sequence $x_{n+1}=\frac{a x_{n-1}+b x_{n-2}}{c+d x_{n-1} x_{n-2}}$, Appl. Math. Comp, 162 (2005),1485-1496.
[26] X. X. Yan, W. T. Li, Z. Zhao, Global asymptotic stability for a higher order nonlinear rational difference equations, Appl. Math. Comp, 182 (2006), 1819-1831.
[27] I. Yalcinkaya, On the difference equation $x_{n+1}=\alpha+\frac{x_{n-m}}{x_{n}^{k}}$, Discrete Dynamics in Natural and Society, (2008) 8 pages.
[28] I. Yalcinkaya, On the global asymptotic stability of a second order system of difference equations. Discrete Dynamics in Natural and Society (2008), 12 pages.
[29] I. Yalcinkaya, C. Cinar, On the dynamics of the difference equation $x_{n+1}=\frac{a x_{n-k}}{b+x_{n}^{p}}$, Fasciculi Mathematici 42(2009), 133-139.
[30] I. Yalcinkaya, C. Cinar, M. Atalay , On the solutions of systems of difference equations, Adv. Differ. Equ. (2008), 9 pages.
[31] E. M.E. Zayed, , M. A. El-Moneam, On the rational recursive sequence $x_{n+1}=\frac{\alpha+\beta x_{n}+\gamma x_{n-1}}{A+B x_{n}+C x_{n-1}}$. Communications on Applied Nonlinear Analysis 12 , 1(2005), 15-28 .
[32] E. M.E. Zayed, M. A. El-Moneam, On the rational recursive sequence $x_{n+1}=a x_{n}-\frac{b x_{n}}{c x_{n}-d x_{n-k}}$. Communications on Applied Nonlinear Analysis 15 (2005), 47-57.

Received: March 13, 2015; Accepted: August 13, 2015

## UNIVERSITY PRESS

Website: http:/ /www.malayajournal.org/

